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Sample Midterm Exam

Professor John S. Bildersee


Put your name on the exam and on any exam answer book.  This is an open book exam.  You MUST hand in the exam to get credit.  Maximum credit is 56 points.

Part I (3 points each) – 24 points

1. If a firm has available for sale marketable securities then

a) changes in the value of held marketable securities are recorded after tax in adjunct accounts associated with the marketable securities.

b) realizing a previously unrealized gain has no impact on comprehensive income.

c) realizing a previously unrealized gain has no impact on net income after tax.

d) unrealized gains and losses are reported in the income statement.

2. If there is a statutory merger, then

e) the acquired firm disappears.

f) a consolidation must be made every reporting period.

g) goodwill is always recorded.

h) the values of the liabilities will not be changed.

3. If a change in control occurs due to a buyout, then

i) the new control group may include prior shareholders who had control before the buyout.

j) the new control group cannot include any shareholders who previously held more than 1% of the company before the buyout.

k) none of the shareholders in the new control group, individually or as a group, controlled the firm before the buyout.

l) that control can be temporary.

4. Abco Inc. has some available-for-sales securities.  The following table indicates the value of the securities at various times.  The securities were all sold at the end of the second year.

At time of purchase
     End of first year

Time of sale




$12,000

$10,000

   $18,000

If no entries are made between the end of the first year and the time of the sale, then how much income and other comprehensive income is included in the sale entry?

m) Income = $6,000;  Other comprehensive income = $2,000

n) Income = $8,000;  Other comprehensive income = –$2,000

o) Income = $8,000;  Other comprehensive income = –$8,000

p) Income = $8,000;  Other comprehensive income = $0
 Redco merged with Whiteco.  In the combination, Whiteco issued 27,000 shares with a market price of $18 per share for 100% of Redco’s common stock.  The following table reports each company’s shareholders’ equity prior to the combination.

Whiteco

Redco

Common stock ($10 par)
$300,000

$150,000


Additional paid-in capital
  150,000

    30,000


Retained earnings

  640,000

  120,000


Immediately following the combination additional paid-in capital should be reported as:

a) $150,000

b) $230,000

c) $260,000

d) $366,000

5. Which of the following costs of a business combination should be treated as a reduction of additional paid-in capital under purchase accounting.



Direct Costs
Issue Related Costs
Miscellaneous (Indirect) Costs
a)            Yes


Yes


No

b)            No


No


Yes

c)            Yes


No


Yes

d)            No


Yes


No

6. Federex paid $1,000,000 for the assets of GederCo.  The net assets of GederCo had a book value of $800,000 and a fair value of $1,100,000.  How much goodwill can be recorded after the acquisition?

a) $200,000

b) $100,000

c) –$100,000

d) $0

7. Managers of Gogo Inc. currently hold 10% of the company’s outstanding shares.  The managers have formed a group to do a leveraged buyout of the public company.  Book value of the firm before the buyout is $1,000,000.  Fair value of the firm is $10,000,000.  If management contributes its shares to the buyout, what is the total valuation of the resulting investment prior to the actual LBO and after the LBO (when the investment in Gogo account is used, but before the actual merger is recorded)?

Before LBO


After LBO
a)  


$10,000,000


$  9,100,000

b)  


$10,000,000


$10,000,000
c)  


$10,000,000


$11,000,000

d)  


$  9,100,000


$  9,100,000

Part II

8. (12 points) Koolit paid $1,500,000 for all of Freezco’s assets and liabilities in a merger.  The following table includes two possible fair value situations.

	Account
	
	Case A
	
	Case B

	Current Assets
	        600,000 
	
	        700,000 

	Long-term Marketable Securities
	        200,000 
	
	        200,000 

	Land
	
	        300,000 
	
	        500,000 

	Plant & Equipment
	        700,000 
	
	        800,000 

	Patents
	
	        100,000 
	
	        300,000 

	Liabilities
	
	       (700,000)
	
	       (600,000)

	
	
	      1,200,000 
	
	      1,900,000 


q) How much goodwill is recorded in Case A?  Report the new carrying value for any assets with values different from those reported in the table.

r) Repeat part a for Case B.

(14 points) Able Co. and Baker Co. are combining.  What is the balance sheet of the combined firm in each of the following cases?

	
	
	
	Able Co.
	
	Baker Co.

	
	
	
	Book Value
	Fair Value
	
	Book Value
	Fair Value

	Cash & A/R
	
	       50,000 
	       70,000 
	
	       75,000 
	       75,000 

	Inventory
	
	
	       20,000 
	       20,000 
	
	       30,000 
	       30,000 

	PPE
	
	
	      210,000 
	      340,000 
	
	      150,000 
	      260,000 

	
	
	
	      280,000 
	
	
	      255,000 
	

	
	
	
	
	
	
	
	

	Current liabilities
	
	       70,000 
	       60,000 
	
	       30,000 
	       35,000 

	Common stock
	
	       90,000 
	
	
	       85,000 
	

	Retained Earnings
	
	      120,000 
	
	
	      140,000 
	

	
	
	
	      280,000 
	
	
	      255,000 
	


s) What is the balance sheet of the combined firm if Able Co. issues $330,000 in long-term debt and then uses the resulting cash to acquire Baker in a statutory merger?

t) What is the balance sheet of the combined firm if Baker Co. issues $370,000 in long-term debt and then uses the resulting cash to acquire Able in a statutory merger?

9. ( 6 points) Fabrics Galore has equal 50% co-owners named Ferris and Ferrare.    Ferris and Ferrare will be given the following proportions of new securities issued by the new management.  Will they be members of the new control group if they sell their interests in the firm to a new management?  

	
	
	Total
	Ferris %
	Ferris

Amount
	
	Ferrare %
	Farrare 

Amount

	Common stock
	        100,000 
	6.0%
	       6,000 
	
	1.0%
	         1,000 

	Preferred stock
	        150,000 
	30.0%
	      45,000 
	
	15.0%
	       22,500 

	Debt
	
	      2,200,000 
	19.0%
	    418,000 
	
	20.0%
	      440,000 


Answers

1  b (it affects other comprehensive income);2  a;3.  c

4  a



Initial entry




After one year


Marketable securities    12000

    Other comprehensive income    2000



Cash


12000

Valuation adjustment

2000



Time of sale


Cash



 18000



Marketable securities

12000



IS-Gain



  6000




&

Valuation adjustment


   2000



Other comprehensive income

  2000
5  d  150,000 + 27000*(18-10);6  d

7  d  (1000000-1100000) = -100000 negative goodwill leads to an asset writedown (no goodwill)

8  a  (fair value before the LBO) and .9*10,000,000+.1*1,000,000 after LBO (and before merger)

Part II

1.

	Account
	
	Case A
	
	Case B

	Current Assets
	        600,000 
	
	        700,000 

	Long-term Marketable Securities
	        200,000 
	
	        200,000 

	Land
	
	        300,000 
	
	        375,000 

	Plant & Equipment
	        700,000 
	
	        600,000 

	Patents
	
	        100,000 
	
	        225,000 

	Goodwill
	
	        300,000 
	
	                 -   

	Liabilities
	
	       (700,000)
	
	       (600,000)

	
	
	      1,500,000 
	
	      1,500,000 


2.

	Able buys Baker for
	      330,000 
	
	Baker buys Able for 
	370,000

	
	
	
	
	
	
	

	
	
	
	Ablebaker
	
	
	Bakerable

	Cash & A/R
	
	      125,000 
	
	
	      145,000 

	Inventory
	
	
	       50,000 
	
	
	       50,000 

	PPE
	
	
	      470,000 
	
	
	      490,000 

	Goodwill
	
	
	              -   
	
	
	              -   

	
	
	
	      645,000 
	
	
	      685,000 

	
	
	
	
	
	
	

	Current liabilities
	
	      105,000 
	
	
	       90,000 

	Long-term debt
	
	      330,000 
	
	
	      370,000 

	Common stock
	
	       90,000 
	
	
	       85,000 

	Retained Earnings
	
	      120,000 
	
	
	      140,000 

	
	
	
	      645,000 
	
	
	      685,000 


3.

	
	
	Ferris Cumulative %
	
	Ferrare Cumulative %

	Common stock
	
	6.0%
	
	
	1.0%

	Preferred stock
	
	20.4%
	
	
	9.4%

	Debt
	
	
	19.1%
	
	
	19.8%


Ferris is a member of the new control group; Ferrare is not.

